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e A H
T T [ oK 7 A
S T — 1T H 805 1,656 821 835
S T —TH 554 1,294 636 658
$5h) T —=TH 752 1,607 827 780
3k  /hE * % 2,111 4,557 2,284 2,273
=il — 1 H 1,256 2,528 1,215 1,313
=il NE 1,233 2,282 1,107 1,175
Z=oalil —= 1T H 1,330 2,644 1,290 1,354
=il uTH 842 1,945 965 980
* %k /phE * % 4,661 9,399 4,577 4,822
E=IREe — 1 H 1,016 1,994 962 1,032
E=IREe —TH 1,005 2,138 1,013 1,125
E=IREe =TH 1,757 3,028 1,432 1,596
=Rk L E 1,123 1,775 861 914
* %k /phE * % 4,901 8,935 4,268 4,667
B — 1T H 1,000 2,009 997 1,012
)1 —TH 703 1,665 835 830
)1 =TH 1,211 2,615 1,281 1,334
)1 L E! 926 1,980 983 997
* %k /phE * % 3,840 8,269 4,096 4,173
PHET)I — 71 H 895 1,819 893 926
PRET)I| —TH 735 1,637 770 867
PRET)I| —=TH 380 826 387 439
PRET)I| T H 1,417 2,940 1,474 1,466
* % /pNEF % % 3,427 7,222 3,524 3,698
* k 2REE* % 43,257 83,242 40,294 42,948

e A H
I T | AR 7 z
FR AR —TH 3,096 6,352 2,964 3,388
FRAHT  — T H 726 1,496 738 758
FORAR =TH 1,210 2,630 1,281 1,349
FOiRART PUTH 2,067 3,403 1,460 1,943
*k  hEE kk 7,099 13,881 6,443 7,438
o IR — 1 H 1,158 2,050 1,007 1,043
o AR —TH 986 1,966 1,006 960
o IR —=TH 1,474 2,857 1,413 1,444
o AR T A 684 1,434 707 727
o AR LT H 1,891 3,685 1,852 1,833
*k  hEE kk 6,193 11,992 5,985 6,007
VG iR —T1H 785 1,121 563 558
VG iR —TH 488 912 402 510
*k  hEE kk 1,273 2,033 965 1,068
TR — 1 H 725 1,178 560 618
TR —TH 750 1,454 709 745
TR =TH 532 827 406 421
*k  hEE kk 2,007 3,459 1,675 1,784
HUFIIR — 1 H 2,078 3,161 1,432 1,729
HUFIIR —TH 866 1,397 635 762
HUFIIR —~TH 960 1,671 792 879
HUFIIR T H 417 618 308 310
TS 4,321 6,847 3,167 3,680
5 — T H 591 1,068 539 529
5 —TH 749 1,576 799 777
5 =TH 1,437 2,734 1,341 1,393
Y5 T H 647 1,270 631 639
TS 3,424 6,648 3,310 3,338




